VER 3 O AR LT — R REHHIE TR (55 3 75)

PR 3 O AR SEIET O~ FHE TR (3 5) 13, WIZEDD L ZAIZE D,

Gk ATk T L DA IE)
F1R BARHTEOBRBEIEAREZNEIN1 30, 000 THEZEBML, MARH
FTHROWEERARETNZENT, 755, 568 FTMHET5D,
2 AR TEOMIEDOZKIAD X 5 O 54X 4y Z & OAFAW ONAH EE O Ak T
BoSBIL, 1H1R BARDTREMIE 2X5,



w1 K A A s B O S
% A ) (EA7 2 TH)
K IH i 1E Bl ¥ A % i E ¥ H & i IE % T H
N 958, 710 130, 000 1,088, 710
1 A A4 958, 710 130, 000 1,088, 710
% A = i 7,625, 568 130, 000 7,755, 568




(% o) (BENT - 1)

K fiIE BT T B % fioE T T H
2 B 2, 134, 547 2,134, 557
2 MR 102, 619 102, 629
4 635, 179 635, 352
1 PRpdfar A= 2 175, 639 175, 812
9 VHF & 256, 635 259, 603
1 B E 256, 635 259, 603
11 KEEIBE 2, 111 128, 060
1 AR PE S 1,056 103, 654
2 ALK 1,055 24, 406
14 T # 16, 775 17, 675
1 T# 16, 775 17,675
% & 7,625, 568 7,755, 568




